GENERAL SCIENCE / MOST IMP QUESTIONS - SAMPLE PAPER -8

Q1. The amount of heat generated/kq is known as
I ST H A1/ B F T F ST ST &
A. heat energy /31 Il
B. calorific value /&Nt AT
C. lower calorific value /&8 &It AT
D. higher calorific value /3= SRt |1
The amount of heat energy produced on complete combustion of 1 kg of a fuel is called its Calorific value.
et e & 1 favetT & quf C& W 3T ST Jroll &l ATAT BT ITDT ST A Hed &
It's expressed in kilojoules per kilogram (kJ/kg).
calorific values of some fuels:
Cow dung: 8,000 kJ/kg
Wood: 22,000 kl/kg
Coal: 33,000 kJ/kg
Biogas: 40,000 kJ/kg
Diesel, kerosene, and petrol: 45,000 kJ/kg
Methane: 50,000 kJ/kg
LPG: 55,000 kJ/kg

Q2. The temperature at which the volume of a gas becomes zero is called
T8 d1q 3T R 5t 77 &7 e T €Y ST 8, FEATT &

A. absolute temperature /fR3& qTaH

B. absolute zero temperature /fRUer [T dTaH

C. absolute scale of temperature /aTaqT T R8T dum™T

D. None of these /&8 T &I &1
Absolute temperature is temperature measured using the Kelvin scale where zero is absolute zero The zero
point is the temperature at which particles of matter have their minimum motion and can become no colder
(minimum energy).
fAROer aTaaT ATIET B SfeaT TAM T IUTNT R /AT SITAT § STET L gt - 8T & 7 g ag arou gar & o
TR uerd & ol S gaaw 1fa gt & 3R 78 SIS 321 (AT Fotf) TEY a7 Tehar B
Absolute zero is the lowest temperature possible, at which there is no heat or motion. It is defined as 0
kelvin, or -273.15 degrees Celsius, or -459.67 degrees Fahrenheit./ W [ ¥9ad: YId9 a19qH g, T W 3E
T I TIf TE ST 81§ 0 Ffoad, I -273.15 30 Afcwmw, A1 -459.67 Ut BRvmeTse & w9 # gReiRa fmar mar &

Q3. The actual vacuum in a condenser is equal to:

T e # arafde Matd f&ad SR g &
A. barometric pressure + actual pressure /RYHieX T ga1d + IRATIS aTd
B. barometric pressure - actual pressure /RIHIeR T a1q - IRATAIS TaTd
C. gauge pressure + atmospheric pressure /75 G819 + IIHSHYT T&Td
D. gauge pressure - atmospheric pressure /7S €dT1d - dIgHSHIY GaTd

The function of the condenser is to condense the steam coming from the turbine exhaust. A high vacuum is
maintained to extract steam and then cooled vis-a-vis condensed through an exchange of heat with the
cooling water from a separate source./ SR BT S AT ST F W AT YT HT FaHd AT &1 919
fRPTe & fAT Ue 3= dagH 97T a7 ST & 3R R U 1ot 9d & 62 Ut & gry it & sieH-ve & wrey
Tafid S ST T ST 21

Q4. When gas is cooled at constant pressure.

9 17 &1 @8R g9 W S fohar Srar 21
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Its temperature increases but volume decreases /20T ATTHT FdT & @i ST Tear &
Its volume increases but temperature decreases /20T 3TTIAT 9T & @i dTTHTT TeaT &
both temperature and volume increase /aTqaTe 3R 3maad &1 & gfg

both temperature and volume decrease /aTqHT 3R 3MIaT EHI Ted &

onw>

REASON - When a gas is cooled at a constant pressure, both its temperature and volume decrease. This is
because the kinetic energy of the gas molecules decreases as the temperature decreases, causing the
molecules to move more slowly. The intermolecular space also decreases, which results in a decrease in
volume.

ST fareft Y f2R gaTa W $1 fam S1rar 8, Y 3Tt aranT 3R smaad S BH 8 ST 8| T safeie @ i araer
e & 1Y TR S1upsit 6t 1fast Foit o & S &, o a1y arfde efief nfa & ot &1 sieRTanfOas e oft & € Sirar
2, fod ufomrasy smads # et s 2.

If the gas is cooled further, it will turn into a liquid, which is a phase shift./ af¢ & & 3k 3271 far STQ, @Y 78
Rl T €T ST, ST U <ROT §&ed &

Boyle's, Charles', and Gay Lussac's Laws describe the basic behavior of fluids with respect to volume,
pressure, and temperature./ 19, I 3R T GHTS & Fw adA, ga1d 3R AU & HEY H R vardt &
AT sugeR &7 ufa FRA §

Boyle's Law- the pressure and volume of a gas are inversely proportional to each other as long as the
temperature and the quantity of gas are kept constant./ 9§ d% dTqaTe 3R 1 &t AT R W S1eft € a9 a6
T qE1d 3R I Teb G & GepHTguTd! 8 &l

Formula: pv = k

Gay-Lussac's Law- is a gas law that states that the pressure of a gas is directly proportional to its
absolute temperature if the volume of the gas is kept constant:/ -@@Te ST o0 va 9 faw & St sarar & &
gfe g &1 3ma R Rar S0 ar 19 &7 a1 TS Iqd RS aIH= & AT BT 8:

Formula: P/ T = constant

Charles’s law/ 91 &1 f39# - the volume occupied by a fixed amount of gas is directly proportional to its
absolute temperature, if the pressure remains constant./ 3¢ gaTa f&R a1 & & 19 &t va [fga amr grr sara
I 3T& Qi dTTAT & HY Srgarias €T 21

Formula: V/T = k

Boyle's Law

Constant = Mass

Charles's Law

Constant = Pressure

Pressure and Volume are] Temperature and Volume

InverselyProportional

Density = Pressure and
Density are directly
Proportional

PVi =BV,

PV =K

are directly proportional

Density is inversely
proportional to

temperature
Vi Vv,
T, T,
VIT =K

Gay Lussac's

Constant = Mass and
Volume

Pressure and
temperature are directly
proportional

]
2]

|
-y

Qs. Electrification in rural areas can be done better and at cheaper rates through
greor g5t # fageiaRur dgR SR Tt R W T S et &
A. coal power /®ITeT 2Ttk



GENERAL SCIENCE / MOST IMP QUESTIONS - SAMPLE PAPER -8

B. biogas /amari
C. nuclear energy /URHTI] FHaIt
D. solar energy /4R 3t
Solar energy is an unlimited power resource and it can be tapped anywhere in the world.
The tropical countries have a vast area of solar coverage when compared with European countries.
Solar energy is also cheap and environmental friendly when compared with the other energy sources.
Less manpower is needed to setup and can be installed in a short time frame.
IR Foif U A Fort Tame € 3R 58 gfFar & ot o swwrer fovar S adhar &1
R 221 H o A Iwisfeaey 221t § TR FaveT o7 Us fawme 87 2
3T Fott Hrat B g d TR FoAt TEit 3R vafaror & srgget oft 21
Ye3rT & v F0 SAfts Bt sravaddr axdt # ok 58 0wy Hiar § wenfd far 5w 21

Q6. The substance that causes the maximum air pollution is?
Rw & A 19 @ yerd arg yguur & fow gaffas Iwerh @1 &2
A. Smoke/ yu
B. Carbon monoxide/ &T&d AIMI3ITGATES
C. Sulphur dioxide/ HeW STS3TRHTSS
D. Nitrogen dioxide/ ATggIS STSATRITES
The substance that causes the maximum air pollution is Sulphur dioxide.
Sulfur dioxide or sulphur dioxide is the chemical compound with the formula SO..
T 31fAF aTY TEWUT HT HRUT T4 TAT TeTef TR STEaMTaTes &l
HETR STFATATSS UT TeUR STEIATRITSE SO, A Tl I Ay 21

Q7. A thermostat is a device for?
AT T T B Il 8
A. Switching off an electrical appliance/ fdagd IuaRul &1 §¢ FaT &
B. Regulating temperature/ AT &Y fFifad a=ar &
C. Producing heat/ ST T AT FReT &
D. Measuring temperature/ dTqHT T ATAAT &
A thermostat is a device for Regulating temperature.

Thermostat, a device to detect temperature changes for the purpose of maintaining the temperature of an
enclosed area essentially constant.

In a system including relays, valves, switches, etc.,

The thermostat generates signals, usually electrical when the temperature exceeds or falls below the
desired value.

AT AT BT T F aTelT U ST 8|

JHIET, U HAW &7 & dTIH BT S §7 & R ST [a & I8  dAT9H IREA BT Tl o & feiw Teb
IR

Ret, ared, Rawr anfe Afged web wored! #,

arfiee fAYe Iead AT 8, STHaR W fAed 9 arqa aifed geu & a1fde a1 e fir Srar 21
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Q8. Cinnabar is an ore of?

R fraeT srras gt €72
A. Iron/ &g
B. Lead/ws
C. Mercury/ Rt
D. Copper/ diar

Cinnabar is a toxic ore of mercury, composed of mercury sulfide (HgS).
TRATER URT &7 U FEddAT 3R &, ST URT AohIss (TSied) o &7 &

Ores of copper -
1. Atacamite-Cu2Cl(OH)3,

2.  Bornite-2Cu2S-CuS-FeS

3. Brochantite-Cu4aSO4(OH)e.

4. Chalcopyrite-CuFeS2

5. Chalcocite-Cu2S

6. Chrysocolla-(Cu,Al)2H2Si205(0OH)4-n(H20)
7. Covellite-CuS

8. Cuprite-Cu20

9. Dioptase-CuSiO2(OH)2

10. Digenite-Cu955

11. Malachite-CuCO3 e Cu(OH)2

12. Rosasite- CuZnCO3(0OH)2

13. Tetrahedrite-Cu3SbS3 + x(Fe,Zn)6Sb2S9
14. Tennantite-Cul2As4S13

Qo. Inert gases are?

Srfeha 18 gl 82
A. Physically inactive/ “itfd® ¥u & siferaefier
B. Not stable/ srRmit
C. Chemically very active/ Imafs ¥7 & §gd fepamafier
D. Chemically unreactive/ ITaNS 0 F 3rfehamefier

Q10. Radioisotopes are?

ST RS g §:

Isotopes used in radio sets/ THRATS 3T Ve &4 # ITTMT & &
Isotopes that are radioactive/ 3 FTfST ¥0 & Afhg g4 €

None of these/ IWRKH & T HIs &I

Some nuclei which emit radiowaves/ & AT f3TTaRT IaTH FRAT &

oOnw>

Radioisotopes are isotopes of an element that are radioactive.

They contain neutron and proton in unstable combination or they may possess excess energy in the
nucleus.

The unstable nucleus is because of its natural occurrence or artificial alteration.

Nuclear reactor - best for producing neutron-rich isotopes (Molybdenum-99)

Cyclotrons - best for proton-rich isotopes (Fluorine-18)

Radioactive Decay - atoms having unstable nuclei gain stability by releasing excess charge in radiation
form.
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YfeaesEeIy Ue W dw & TR g & S YEatendf 8 &

I 3R TEe ® ggiv 3R Uield 81 € a7 3% Uty A1fie # s1fafies Foit &1 dadt 21

SR 1A ot wefas T a1 FfHw ufads & HRor AT 1

RATY] RuaeR - e goh TmyTe (Mifae m-99) & Iated & faw gad st

TIETACH - Wl gob TRATAG! & faw g ad (TAR-18)

YfearerdT e - IfER T1fAF aTel W] fAfaRor & 0 & Sifafes smaer T v fERar Ut avd &

Q11. When a ship enters a sea from a river?
9 P eI AE F Tqg H T T ¥
A. ltrises a little/ 2ST FWR 3T ST &
B. lItrises or sinks depending on the material it is made of/7g FR IS T 3T, fFw garf FT T8, 59
a1d W AR
C. It sinks a little/ I ST 3§ STTaT &
D. It remains at the same level/ TaT f&f3 & vgaT &

CONDITION 1
When a ship enters the sea from a river, it rises a little because seawater is denser and saltier than river

water, which results in a greater buoyant force:

Reason- The buoyant force on a ship is greater in seawater because of its higher density. This is due to the
salts dissolved in seawater.

Effect - The ship's volume immersed in water decreases to balance its weight, causing it to rise.

Formula - The buoyant force is calculated using the formula F,=dVg,

where f, is the buoyant force,

d is the density of water,

V is the volume of displaced water, and

g is the acceleration due to gravity

I IS STeTol 7t A TYg W TA RAT &, 7Y I8 Y157 FTY 33 77T & Fifcs T STt AT & STt i goaam & e 3R @Ry
BT 8, s uRumresy sifds IaamaT go 3 ghar @

FRUT- THL! I | I I & HRUT JETS W I I 3 grar &1 01 gl ST # gl 1ot & FHRoT g1 2l
TUTq - U H §§ STETS T 1T ITF o B Tferd o & faw o0 8 Jrar &, fOd 98 I I8 Jrar 2l

T - I&ATaT I Y TOHT A Fb=dVg &7 ITTHT s HY 1l B,

STET fb IEATa 5 &,

d Ut &7 T €,

V farenfoq urh &t 7 §, 3k

g TREATHYUT & HRUT E ITeAT @ROT &

CONDITION 2 /OPPOSITE - when a ship enters a river from the sea, it sinks a little due to the higher
density of river water compared to seawater. This change in buoyancy is necessary to maintain the ship's

equilibrium and ensure it does not float too high or too low in the water.

faudd - 59 1 T T B I B U IRAT 7, AT TS A DY AT B A F U FT O 31fAS g1 & HROT a8 AT
39 SI7d7 & 3BT § Tg URad" Tt & T Bl §91Y [a 3R T8 GRFAT =7 & v snawws & & g8 ot & 97 W
T 95d A TR

Qi2. Of the following substances, the one that cannot be used as an insecticide is?
9 & & B A1 W @ S Hlereres & w7 § IudT &7 fbar S Hedr:

A. Gammexane/ T

B. Bleaching powder/ sefifaiT guf
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C. DDT/gE&
D. Malathion/ AaTaT=

To kill insects, insecticides are used. Except for all, Bleaching powder is not an insecticide.

FHigt BT AR F AT Hearere! o1 3T F5ar Sar &1 Tt 1 BisaR, sl ISR T HIe® T8l &l

Q13. Bats can fly in the dark because?
TmTes N T ot srETh & 3T Hohdl € Ui
A. They are guided by ultrasonic waves produced by them/ a1 ¥qg & gRT IaU &I T WRreafy F T
a8
B. Any bird can be do so/ &1 ff ueft & R T &
C. The pupils of their eyes are very big/ 3% 37iRaT # IURAT Yaei 9gd g1 €T &
D. They have a better vision in the dark/ 37& U 3t&Rk # Sreet geadT &Ieil &

OUND PULSE

S
SENT OUT BY BAT

<~t(pumunus

REFLECTED PULSE
RECEIVED BY BAT

Q14. Woolens keeps us warm in winter because they?

It U offd g W gHET TRY Rad & aifa?

Are good absorbers of heat/ T & 378 aMNTD &1 &

Produce more warmth/ 31f&a THf 30 o €

Do not allow our body heat to escape/ T RR ¥ FTHT BT T&R T8I S &
Do not allow cool air to enter/ 31 &aT &I 3a &l 3 &

oOnNn >

Woollen clothes keep us warm during winter because wool is a poor conductor of heat and it has air
trapped in between the fibres.

It B g Tidat # mf Raa & T I 7T BT Farete ghar @ 3k s Wit & o gar By ST 8

Qis. Drinking soda is?
I Ty AT 8T 8
A. An oxidizing agent/ T JTaiTRS dd
B. Basic in nature/ &R Upfd &
C. Neutral/ I’
D. Acidic in nature/3m+i1g Uspfd &

Qie. In which of the following activities silicon carbide is used?
FafeRea & 3 foa nfafafe & Rfae afss o1 SuanT fFar ST 82
Making cement and glass /¥THe 3R Fa s9T
Disinfecting water of ponds /dTeTaT &7 Ut HICTUREd AT
cutting very hard substances /§gd S8R Uary Sre-T
Making casts for statues /qfdal & fw dre s=MT

onNn >

Q17. The group of metals Fe, Co, Ni may best called as
Tq3 & T Fe, Co, Ni & TdTH HeT 51T AHdT &
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transition metals /AT 4Tq3iT
main group metals /7T THg 4Tq
alkali metals /&I 4rq

rare metals /gy 4Tq

oNnw>

Qi18. What is the Sl unit of electrical resistance ?

faega wfekry 6t werE g qur 22
A. Candela /&=eT
B. Ohm /3H
C. Hertz /ged
D. Radian Rfgga

The Sl unit of electric resistance is the ohm (£)).

faega wfekry &7 S| A o (L) B

Q19. What is the main purpose of using a choke in a 'fluorescent lamp'?
TR AT’ & 9ie & IUUNT &7 IReT IET FTEIAT & 2

A. reduce the flow of electric current /fag[d &RT & UdTE BT HH HRAT

B. increase resistance /UfeRIel & SGMT

C. increase the flow of electric current /fag[d ¥RT & UaTe B ST

D. &9 &I el
The choke primarily serves to limit current flow to the correct level for the tube. It also can be used during
startup to provide an inductive 'kick' forming a momentary higher-voltage pulse to start the lamp.
N TR T J oF & AT I TdTE H TET TR a6 JVT IR BT SR el 2| $TST STLNT WIENT & SR AT B
I IR & TV U &iffies I=-dleest Uod S & foT Ush ST {5 WeTd o & faiw off fasar S gt 21

Q20. From which mineral is radium obtained?

ey frg @fasr A v gar § 2
A. Rutile /¥c1ged
B. Haematite /gAce
C. Limestone /94T 4R

D. Pitchblende /fUgssis
Thus, radium is found in tiny quantities in the uranium ore uraninite and various other uranium minerals, and
in even tinier quantities in thorium minerals. One ton of pitchblende typically yields about one seventh of a
gram of radium.
T USR, o e RfAgw ok fafve s Qfaoy @fast & Yeow ow amm & urar Srar 8, iR aifae w@fae o
BIE AT H U ST 21 U o fUaeis STHdR W U U 30 $T RTIT iadt e &t 2



